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Even the two can discredit the three; and from where do we derive
even if they are a hundred; the verse teaches by saying, ‘witnesses’

OVERVIEW

The 105 states,' "3 077y TW9W X 279 021w °5 Yy, The 71wn explains that the P05 is
comparing two 27V to three; just as three 2°7¥ can discredit two, so can two
discredit three, and the (extra) word 2’7V teaches that two can discredit even a
hundred 2>7v.> Our Moo explains how we derive that two can discredit even a
hundred.

MooIN asks: ,
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It is astounding! Let us say that the word 27 comes to teach us that two o7V

can discredit even four, which is one more -
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than the three which is written in the ?105, but we cannot derive from 2*7v that
the two can discredit more than four witnesses!

n90IN answers: .
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And one can say; since one set of 27V (two 2°7¥) can discredit two sets of 2’7y
(four 0>7v), logic dictates that they can discredit even a hundred 2°7.

SUMMARY
Once we know (from 0>7¥) the one set can discredit two sets (four 0*7v), it follows
that they can discredit even a hundred 2>7v.

THINKING IT OVER

" u,0° (Dvow) ova.
% There is also the view of w"1 that the 7100 teaches that if there were a hundred pmir 27y they all must be
discredited to implement the a»1 9wX>. The view of ¥"7 is that even if there are a hundred witnesses and (only) one
of them is disqualified, the whole Mm17¥ is invalid. 7iwna w">y.
? The 0" amends this to read, *2°n27 A7 12 N TR V2R (and not, *2°n>7 37 11 NP 2109 X 2P IR R¥HAN T(SJJ'N?), or
alternately the words 121 2109 W 21 TR R¥AN are a separate question of Moo (referring to the view of ¥" [see
footnote # 2]). The translation here follows the X0 of the 0" n. See ‘Thinking it over’.
* When two can be o’1» three, I still do not know that the two can be o’ four, because by three, the third 7¥ has no
power of M7y on his own (he is included and associated with the other two); however if two can be a°m four, even
though the four can be divided into two separate sets of a7y with each set having the full power of a7y (which
could lead us to think that one set does not have to power to overcome two sets), and nevertheless the 7710 teaches
(with the word 0*7v) that one set can be 0’ even two sets, it is self-understood that the same applies to three sets,
etc. [Alternately, when the 70 writes explicitly three, this teaches us that two can be o’ three and no more, but
when the inclusion is based on the word 2°7¥ (which has no limit) it includes even 182.]
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Seemingly, the same question which m»01n asks on the p"n of the mwn (how do we
know that two can be 2’ a hundred [perhaps they can be 2’ only four]), that
same question applies to the views of ¥"9 and ¥"1;” how do we know that if there
are more than four, all of them need to be a7 (according to ¥"7), and how do we
know that if there are a hundred 2°7v, even if one of them is a 7109 18 217p the M7V
is 9v3,° perhaps these rules are limited to only four 0>7v! It would seem that m»oIn
answer does not apply to the views of ¥"1 w"9!’

3 See footnote # 2.
® See footnote # 3.
" See 110 1.
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